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Cross-licensing support

How can | develop a cross-licensing strategy?

|
Cipher can help you.

Whether you’re on the receiving end of a O—D
cross-licensing offer or you’re proactively

approaching others, with Cipher you can
compare your portfolio to others and
understand your share of the world’s patents.

How does it work?

You can use your categories shown through
your own classifiers or you can use Cipher’s
pre-built cross-licensing model powered by
AST and their product categories.

Learn more about the AST taxonomy

This example focuses on an organisation that is the
target of a cross-licensing offer from a competitor.

Cipher
uncovered:
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It’s clear that
Company B
is currently
in a stronger
position in this
cross-licensing

% 11.24% example.

Example company compared with the competitor - comparing the share of Worldwide Granted Patents.

Hear from Richardson Oliver Insights on the
strategic value of Cipher

With Cipher you will be
so that you can:

» understand how you compare to an opposing party
* be in a strong position during negotiations backed up by data
e quickly respond with a robust strategy
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https://bit.ly/3t6Jz72
https://bit.ly/3eGy2rh
http://www.cipher.ai
https://bit.ly/3eGy2rh
https://bit.ly/3eGy2rh
https://bit.ly/3eue1Us
https://bit.ly/3eue1Us
https://bit.ly/3eue1Us
https://bit.ly/3co7tW4 

